SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 400t
MATHEMATICS / 7Tfora

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fauiRa 999 : 3 gve AR aH 3i : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 10 in section-A are multiple choice questions where you are to
select one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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135

The simplified form of — is:
133
(A) 1375 B) 1315 () 135 (D) 135
13’5
— I A FY T :
1373
(A) 13715 (B) 1315 © 135 (D) 137715

Which of the following is a polynomial in one variable :

(A) 3—x2+x (B) 3x + 4
Q) L+ +7 (D) x+%
=1 H o T =ik 1 SIS ¢

(A) 3—x2+x (B) Bx +4
€ Ly 47 (D) x+%

Which of the following is a quadratic polynomial ?

(A) 3x3+5x+4 (B) 5+43x+2x2+7x3
€ 2 +2143 (D) (x—1) (x+1)

X
forer § @ = 91 e fase 87
(A) 3x3+5x+4 (B) 5+43x+2x2+7x3
€ 2+2143 (D) (x—1) (x+1)

X
If Z+¥%=-1, (x, y = 0), then, the value of x3 —y3 is :
y X

(4 1 B -1 Q0 ©)
Wﬁi§+l=—1,(x,y¢0)%,?-ﬁx3—y3wm%:

X
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(A) 1 (B) -1 © 0 (D)

N | =

Value of x in the figure below is :

100° 600

A

(A) 80° (B) 40° (C) 160° (D) 20°

= eRfa ®, x AR T

100° 600

A

(A) 80° (B) 40° (C) 160° (D) 20°
In AABC, if AB=AC, B=50° then Ais equal to :

(A) 40° (B) 50° (C) 80° (D) 130°
AABC #, afg¢ AB=AC, B=50°%, &1 A SRR T :

(A)  40° (B) 50° (c) 80° (D) 130°

A square and an equilateral triangle have equal perimeters. If the diagonal of the square is

12+/2 cm then area of the triangle is :
(A) 242 cm2  (B) 243cm2 (C) 48 3cm2 (D) 64 /3 cm?

T o q1 GHEE T o1 Ry sRreR ¥ | afg ot 61 ot 1242 4t €, @ st 61 g ©

(A) 2423952 (B) 243 THR (C) 483 THR (D) 64 /3 §HR

The side of an isosceles right triangle of hypotenuse 52 cm is :
(A) 10cm (B) 8cm (C) 5cm (D) 3 +2cm
T HHRIVIT TfgaTe s o ol ot awag 52 A €1 59 ht ST hl qIE &

(A) 10+ (B) 8t (C) 5 gt (D) 32 &
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10.

11.

12,

13.

Section-B

Question numbers 9 to 14 carry two marks each.

If x=3+2.2, then find whether x + 1 is rational or irrational.
X

afs x=3+22, 9 79 BT x4+ L e 9fi e ar siaa ?
X

Without actually calculating the cubes, find the values of 553 — 253 —303.
o1 a1 afteer fe fom, 553 — 253 — 303 &1 7 1 HifsT |
If x+y=8 and xy =15, find x2 +y2.

Az x +y =8 sk xy=15, @ x2+y2 #1747 FAW

In the given figure, if ZPOR and ZQOR form a linear pair and a —b =80°, then find the
value of aand b.

& TE eThfa H, afe LPOR 3R ZQOR U If@s o oA € aena — b =80° %, A a 9 b & 7 I«
T |

Y

A

In figure, Z/B=ZE, BD=CE and £1= /2. Show AABC = AAED.

A

B D C E

3hfa H /B=/E, BD=CE 3R /1=,2%| TuET f& AABC = AAED.
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14,

15.

16.

OR
In the figure given below AC > AB and AD is the bisector of £/ A. Show that £/ ADC > / ADB.

A
1\2

B D C

o H AC > AB 3T/ A T THIGYIST® AD €1 <93¢ f ~ ADC> ~ ADB.

A
1\2

B ) C

Find the co-ordinates of the point which lies on y—axis at a distance of 4 units in
negative direction of y—axis.

(A) (—4,0) (B) (4,0) (C) (0, —4) (D) (0,4)
39 forg %, S y—37e7 i 01 foun & 4 Uoheh gl W 8, T3 91 Shifeg |

(A) (=4,0) (B) (4,0) (C) (0, —4) (D) (0,4)

Section-C

Question numbers 15 to 24 carry three marks each.

Represent +/2 on the number line.

J2 =1 g W R fefid st

OR

Express 18.48 in the form of P where p and g are integers, q = 0.

18.48 =1 £ & = # = Fifeg =i p oivw g o §aem g = 0
q

If x =5—26 then find the value of x? + lz )
X
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17.

18.

19.

Ifs x =5—26 &, @ x% + 12 1 T AT hifSTC |

X

If x + 1 =7, then find the value of x° + %
X X

aﬁx+1=7%,a‘rx3+l3amnﬂamﬁ%m
X X

OR
Factorise : x3 —3x2 — 10x + 24

TS HITT : x3 — 3x2 — 10x + 24
Using suitable identity evaluate (998)3.

IR A 1w e (998)3 w1 H F wife

In the given figure, lines AB and CD intersect at O. If £ZAOC+ #BOE =70° and

/BOD =40°, find /BOE and reflex <EOC.

D

stepfa ® W& AB @ CD fag O ® ufa=sg &t 81 A ZAOC + £BOE =70° @& /BOD = 40°

, 4 /BOE 3R 9fderd o1 /EOC 1T Shifsu |

OR

In the following figure, PQ||ST, ZPQR =115° and £RST = 130°.

Find the value of x.
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20.

21.

»

B C D

In the given figure, ABC is a triangle with BC produced to D. Also bisectors of ~ABC

and ZACD meet at E. Show that /BEC = % /BAC .

3 g€ 3npfa § ABC U et © formeht s BC fag D aw oigi§ T8 &1 L ABC @ £ ACD & HHfge
E R faea 81 <oife fom 4BEC=%4BAC

In the given figure, sides AB and AC of AABC are extended to points P and Q
respectively. Also ~PBC < ~QCB. Show that AC > AB.

3t g8 smpfa § AABC &t =& AB e AC 9T farg, P den Q @ 9igE T8 § ae
/PBC< ~QCB. <uii& f& AC > AB.
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22. D E

A ' C ' B

In the given figure, AC=BC, «DCA= LECB and «DBC= <EAC. Show that
ADBC=AEAC and hence DC=EC.

& g¢ emRfa § AC=BC, ~,DCA= LECBdem «DBC= ~EAC®! <ufze fos ADBC=AEAC den
DC=EC.

23. X+y

The degree measure of three angles of a triangle are x, y, and z. If z =

then find the value of z.

o oot % R ol A, y, Az ¥ A 2= ; Y % 4 7 % v 9@ Ff)

24.  The perimeter of a triangular ground is 900 m and its sides are in the ratio
3:5:4. Using Heron’s formula, find the area of the ground.

& fase Fem &1 afarg 900 W 71 afs st yeE 3 : 5 1 4 % orud H € Ot ERF 1 g TA ek
THHT &R 1 i |

Section-D
Question numbers 25 to 34 carry four marks each.

B R o e e R e e e CRNO

If and 7~ then evaluate
x2+12.
_ bz bz _ 2 2
afe * (2435)2 + (2-5)2 v = (2445)2 - (2-45)2 & a2+ y2 & wm
1A ShifeTa |
OR
Ifa = % and b= %,ﬁnd the value of a2+b%—5 ab.
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26.

27.

28.

29.

30.

V3 + 2
m%,?ﬁaz

gfga = X2 % gurb=

Rationalize the denominator of

4
2+ 3 +47

4
m%awv&ﬁ?ﬂwﬁm|

Factorize : (a) 4a2 —9b2 —2a—3b.

(b) a2+b2—2(ab—ac+bc)
TGS IS :
(a) 4aZ—9b2—2a—3b.

(b)  a2+b2—2(ab—ac+bc)

If (x +5) is a factor of x3+2x2 —13x + 10, find the other factors.

aﬁa‘gq'c:x3+2x2—13x+10 1 Teh UAETS (X + 5) &, @ 3 UAETS Jd i |

Factorize a/ — ab®.

a’ —abb % UGS hHIfT |

+b2—5 ab &1 HF TG HIST |

OR

If ax3 + bx2 4+ x— 6 has x+ 2 as a factor and leaves remainder 4 when divided by x—2,

find the values of a and b.

afe x + 2, 9g7E ax3 + bx2 + x — 6 T TF PHETE ¥ 3R TgUE F (x — 2) § fasia W I 4

O § Al @ 9 b o 7 1 SIfST

In the given figure, POR is an equilateral triangle with coordinates of Q and R

as (—2,0) and (2, 0) respectively. Find the coordinates of the vertex P.
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y|

= & ™ smpfa #, PQR w wwerg s 71 fog Q qen R & Ferisk shaw: (—2, 0) @en (2, 0) F1
3 fog P & fdwnies 9ma shifsw |

Y
y|

31. In the adjoining figure, the side QR of APQR is produced to a point S. If the bisectors of
ZPQR and ZPRS meet at point T, then prove that ZQTR = % ZQPR.

P T

\
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spfa #, APQR &t s QR @1 fog S @ sigren T g1 A £ PQR &1 £ PRS & THfgHSh U fog
T = foer €, @ fag wifve fF ZQTR = % Z/QPR.

P T

I
Ll

Q R S

32.  In the following figure, the sides AB and AC of AABC are produced

to D and E respectively. If the bisectors of « CBD and ~BCE meet

at O, then show that ~BOC =90° — % .

= < stapfa ®, AABC =t oemsiit AB iR AC &1 %9w: D @R E a% sigrn T &1 afg ~ CBD siX

Z

/BCE % mafgsrem O w fier ¥, 1 g Fifw £ /BOC = 90° — TA %

33. BE and CF are two equal altitudes of a triangle ABC. Using RHS congruence rule, prove that
the triangle ABC is isosceles.

AABC ¥ BE 991 CF <1 99 39 o« € | RHS HalTHHaT wd1el sl Teral ¥ fag wifse f AABC
T gHfgarg By 71

34. In a triangle ABC, AB=AC, E is the mid point of AB and F is the mid point of
AC. Show that BF=CE.

s st ABC 5, AB=AC %1 E g1 AB &1 727 foig aen F oo AC =1 ue7 fag §1 <wiisy fo
BF =CE.
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